# The Fibonacci Quarterly 1997 (vol.35,1): 68-74

# SUMMATION OF RECIPROCALS IN CERTAIN SECOND-ORDER RECURRING SEQUENCES

#### Richard André-Jeannin

IUT GEA, Route de Romain, 54400 Longwy, France (Submitted September 1995)

#### 1. INTRODUCTION

We consider the sequence  $\{W_n\} = \{W_n(a,b;P,Q)\}$  of integers defined by

$$W_0 = a, W_1 = b, W_n = PW_{n-1} - QW_{n-2} \quad (n \ge 2),$$
 (1.1)

where a, b, P, and Q are integers, with  $PQ \neq 0$ . Particular cases of  $\{W_n\}$  are the sequences  $\{U_n\}$  of Fibonacci and  $\{V_n\}$  of Lucas defined by  $U_n = W_n(0,1;P,Q)$  and  $V_n = W_n(2,P;P,Q)$ . In the sequel we shall suppose that  $\Delta = P^2 - 4Q > 0$ . It is readily proven [6] that

$$W_n = \frac{A\alpha^n - B\beta^n}{\alpha - \beta},\tag{1.2}$$

where  $\alpha = (P + \sqrt{\Delta})/2$ ,  $\beta = (P - \sqrt{\Delta})/2$ ,  $A = b - \beta a$ , and  $B = b - \alpha a$ . Following Horadam [6], we define the number  $e_w$  by  $e_w = AB = b^2 - Pab + Qa^2$ . It is clear that  $e_u = 1$  and  $e_v = -\Delta = -(\alpha - \beta)^2$ , where  $e_u$  and  $e_v$  are associated with the Fibonacci and Lucas sequences. By means of the Binet form (1.2), one can easily prove the Catalan relation

$$W_n^2 - W_{n-1}W_{n+1} = e_w Q^{n-1}. (1.3)$$

Notice that

$$\alpha > 1$$
 and  $\alpha > |\beta|$ , if  $P > 0$ , (1.4)

and that

$$\beta < -1$$
 and  $|\beta| > |\alpha|$ , if  $P < 0$ . (1.5)

By (1.4) and (1.5), it is clear that  $U_n \neq 0$  for  $n \geq 1$  and that  $V_n \neq 0$  for  $n \geq 0$ . More generally, there exists an integer p such that  $W_p = 0$  if and only if  $W_n = W_{p+1}U_{n-p}$  for every integer p. By (1.4) and (1.5), we obtain

$$W_n \simeq \frac{A}{\alpha - \beta} \alpha^n$$
, if  $P > 0$  and  $W_n \simeq \frac{-B}{\alpha - \beta} \beta^n$ , if  $P < 0$ . (1.6)

The purpose of this paper is to investigate the infinite sums

$$S_k = \sum_{n=1}^{+\infty} \frac{Q^n}{W_n W_{n+k}}$$
 and  $T_k = \sum_{n=1}^{+\infty} \frac{1}{W_n W_{n+k}}$ ,

where k is a positive integer. We shall suppose that  $W_n \neq 0$  for  $n \geq 1$  (see the remark above) and that  $e_w = AB \neq 0$  (which means that  $\{W_n\}$  is not a purely geometric sequence). By (1.4) and (1.5), use of the ratio test shows that the series  $S_k$  and  $T_k$  are absolutely convergent. Notice that  $S_k = T_k$ , when Q = 1.

68

[FEB.

More generally, let  $\pi(n) = m + sn$  be an arithmetical progression, with  $m \ge 0$  and  $s \ge 1$ . We shall examine the sums

$$S_{k,\pi} = \sum_{n=1}^{+\infty} \frac{Q^{\pi(n)}}{W_{\pi(n)} W_{\pi(n+k)}} \quad \text{and} \quad T_{k,\pi} = \sum_{n=1}^{+\infty} \frac{1}{W_{\pi(n)} W_{\pi(n+k)}}.$$

By the way, we shall also obtain a symmetry property (Theorem 1) that generalizes a recent result of Good [5].

**Remark 1:** Notice that  $S_{k,\pi} = T_{k,\pi}$  when Q = 1 and that  $S_{k,\pi} = (-1)^m T_{k,\pi}$  when Q = -1 and s is even

## 2. MAIN RESULTS

Theorem 1: We have

$$U_k \sum_{n=1}^m \frac{Q^n}{W_n W_{n+k}} = U_m \sum_{n=1}^k \frac{Q^n}{W_n W_{n+m}},$$

where k and m are nonnegative integers.

**Theorem 2:** If P > 0, then

$$S_{k} = \frac{1}{e_{w}U_{k}} \left[ \sum_{r=1}^{k} \frac{W_{r+1}}{W_{r}} - k\alpha \right]. \tag{2.1}$$

If P < 0, replace  $\alpha$  by  $\beta$  in the right member.

**Theorem 2':** If P > 0 or if P < 0 and s is even, then

$$S_{k,\pi} = \frac{1}{e_w U_s U_{sk}} \left[ \sum_{r=1}^k \frac{W_{\pi(r+1)}}{W_{\pi(r)}} - k\alpha^s \right]. \tag{2.2}$$

If P < 0 and s is odd, replace  $\alpha^s$  by  $\beta^s$  in the right member.

**Theorem 3:** If P > 0, then

$$AU_k T_k = (1 - Q^k) \sum_{r=1}^{+\infty} \frac{1}{\alpha^r W_r} + Q^k \sum_{r=1}^k \frac{1}{\alpha^r W_r}.$$
 (2.3)

If P < 0, replace A by B in the left member and  $\alpha$  by  $\beta$  in the right member.

Corollary 1: If Q = -1, then

$$T_{2k} = \frac{1}{U_{2k}} \sum_{r=1}^{k} \frac{1}{W_{2r}W_{2r-1}}$$
 (2.4)

and

$$T_{2k+1} = \frac{1}{U_{2k+1}} \left[ T_1 - \sum_{r=1}^k \frac{1}{W_{2r} W_{2r+1}} \right]. \tag{2.5}$$

Corollary 2: If Q = -1 and s is odd, then

$$T_{2k,\pi} = \frac{U_s}{U_{2ks}} \sum_{r=1}^k \frac{1}{W_{\pi(2r)} W_{\pi(2r-1)}}$$
 (2.6)

1997]

and

$$T_{2k+1,\pi} = \frac{U_s}{U_{(2k+1)s}} \left[ T_{1,\pi} - \sum_{r=1}^k \frac{1}{W_{\pi(2r)} W_{\pi(2r+1)}} \right]. \tag{2.7}$$

**Remark 2:** If Q = -1, k = 1, and  $W_n = U_n$  or  $V_n$ , then Theorem 3 is Lemma 2 in [1].

**Remark 3:** Theorem 1 shows that  $S_k$  is a rational number if and only if  $\alpha$  is rational or, equivalently, if and only if  $\Delta$  is a perfect square. Corollary 1 shows that, in the case Q=-1,  $T_{2k}$  is rational, while  $T_{2k+1}$  is rational if and only if  $T_1$  is rational. Notice that, even in the usual case  $W_n = W_n(0, 1; 1, -1) = F_n$ , the value and the arithmetical nature of  $T_1$  is unknown. One can obtain similar results for the numbers  $S_{k,\pi}$  and  $T_{k,\pi}$ .

Theorem 1 is given by Good [5] in the case Q = -1. Theorem 2' was first obtained by Lucas [8, p. 198] in the case k = 1,  $W_n = U_n$  or  $V_n$ . The same results were rediscovered by Popov [11]. Brousseau [3] proved Theorem 2 for  $W_n = F_n$  and he gave numerical examples of Corollary 1. Good [5] proved Theorem 2 in the case Q = -1. In [2], [7], and [9], one can find variants of Theorem 2' applied to Fibonacci, Lucas, Pell, and Chebyshev polynomials.

#### 3. PRELIMINARIES

In the sequel, we shall need the following lemmas.

**Lemma 1:** For integers  $n \ge 0$  and  $k \ge 0$ 

$$\begin{cases} W_{n+k} - \beta^k W_n = A \alpha^n U_k, \\ W_{n+k} - \alpha^k W_n = B \beta^n U_k. \end{cases}$$
(3.1)

$$W_{n+k} - \alpha^k W_n = B\beta^n U_k. \tag{3.2}$$

**Proof:** Using Binet form (1.2), the result is immediate.

**Lemma 2:** For integers  $k \ge 1$ ,

$$\sum_{r=1}^{k} \frac{\beta^{r}}{W_{r}} = \frac{1}{B} \left[ \sum_{r=1}^{k} \frac{W_{r+1}}{W_{r}} - k\alpha \right], \tag{3.3}$$

$$\sum_{r=1}^{k} \frac{\alpha^{r}}{W_{r}} = \frac{1}{A} \left[ \sum_{r=1}^{k} \frac{W_{r+1}}{W_{r}} - k\beta \right]. \tag{3.4}$$

**Proof:** We prove only (3.3), the proof of (3.4) is similar. By (3.2), where n=r and k=1, we have

$$\sum_{r=1}^{k} \frac{\beta^{r}}{W_{r}} = \frac{1}{B} \sum_{r=1}^{k} \frac{W_{r+1} - \alpha W_{r}}{W_{r}} = \frac{1}{B} \left[ \sum_{r=1}^{k} \frac{W_{r+1}}{W_{r}} - k\alpha \right].$$

**Lemma 3:** If Q = -1, we have, for  $k \ge 1$ ,

$$\sum_{r=1}^{k} \frac{1}{\alpha^{r} W_{r}} = A \sum_{r=1}^{k} \frac{1}{W_{2r} W_{2r-1}},$$
(3.5)

70

FEB.

$$\sum_{r=2}^{2k+1} \frac{1}{\alpha^r W_r} = A \sum_{r=1}^k \frac{1}{W_{2r} W_{2r+1}}.$$
 (3.6)

One can obtain two similar formulas by replacing  $\alpha$  by  $\beta$  and A by B.

**Proof:** We prove only (3.5). Since Q = -1, we have  $\alpha^r \beta^r = (-1)^r$  for  $k \ge 1$ , thus,

$$\sum_{r=1}^{2k} \frac{1}{\alpha^r W_r} = \frac{1}{B} \sum_{r=1}^{2k} \frac{(-1)^r \beta^r B}{W_r} = \frac{1}{B} \sum_{r=1}^{2k} (-1)^r \frac{W_{r+1} - \alpha W_r}{W_r}, \text{ by (3.2)}$$

$$= \frac{1}{B} \sum_{r=1}^{2k} (-1)^r \frac{W_{r+1}}{W_r} = \frac{1}{B} \sum_{r=1}^k \left( \frac{-W_{2r}}{W_{2r-1}} + \frac{W_{2r+1}}{W_{2r}} \right)$$

$$= \frac{1}{B} \sum_{r=1}^k \frac{W_{2r+1} W_{2r-1} - W_{2r}^2}{W_{2r} W_{2r-1}} = \frac{1}{B} \sum_{r=1}^k \frac{-e_w (-1)^{2r-1}}{W_{2r} W_{2r-1}}, \text{ by (1.3)}$$

$$= A \sum_{r=1}^k \frac{1}{W_{2r} W_{2r-1}}, \text{ since } e_w = AB.$$

**Lemma 4:** Let  $\{a_n\}$  be a sequence of numbers and  $\{b_{n,k}\}$  be the sequence defined by

$$b_{n,k} = a_n - a_{n+k}, \quad k \ge 0. {3.7}$$

For every  $m \ge 0$  and  $k \ge 0$ , we then have

$$\sum_{n=1}^{m} b_{n,k} = \sum_{n=1}^{k} b_{n,m}. \tag{3.8}$$

**Proof:** Without loss of generality, we assume m > k. By (3.7) we get

$$\sum_{n=1}^{m} b_{n,k} = (a_1 + \dots + a_m) - (a_{k+1} + \dots + a_{m+k})$$

$$= (a_1 + \dots + a_k) + (a_{k+1} + \dots + a_m) - (a_{k+1} + \dots + a_m) - (a_{m+1} + \dots + a_{m+k})$$

$$= (a_1 + \dots + a_k) - (a_{m+1} + \dots + a_{m+k}) = \sum_{n=1}^{k} b_{n,m}.$$

# 4. PROOF OF THEOREMS 1, 2, AND 2'

We get by (3.1) that

$$\frac{\beta^n}{W_n} - \frac{\beta^{n+k}}{W_{n+k}} = \frac{AQ^n U_k}{W_n W_{n+k}}.$$
(4.1)

Putting  $a_n = \beta^n / W_n$  and  $b_{n,k} = AQ^n U_k / W_n W_{n+k}$ , we see by (4.1) that  $b_{n,k} = a_n - a_{n+k}$ . Theorem 1 follows immediately by this and Lemma 4.

Assuming now that P > 0 and letting n = 1, 2, ..., N, where  $N \ge k$ , we obtain

$$AU_k \sum_{n=1}^{N} \frac{Q^n}{W_n W_{n+k}} = \sum_{r=1}^{k} \frac{\beta^r}{W_r} - \sum_{r=N+1}^{N+k} \frac{\beta^r}{W_r}.$$

Now, by (1.6) we have

$$\frac{\beta^r}{W_r} \simeq \frac{\alpha - \beta}{A} \left(\frac{\beta}{\alpha}\right)^r$$

and since  $\alpha > |\beta|$ , the last sum in the right member vanishes as  $N \to +\infty$ . Thus, by (3.3),

$$AU_k \sum_{n=1}^{+\infty} \frac{Q^n}{W_n W_{n+k}} = \sum_{r=1}^k \frac{\beta^r}{W_r} = \frac{1}{B} \left[ \sum_{r=1}^k \frac{W_{r+1}}{W_r} - k\alpha \right],$$

and the conclusion follows from this, since  $e_w = AB$ . If P < 0, replace  $\beta$  by  $\alpha$  in the left member of (4.1) and A by B in the right member. Using (3.2) and (3.4) and recalling that  $|\beta| > |\alpha|$  in this case, the end of the proof is similar.

Let us examine some particular cases. If  $W_n = U_n$  (respectively  $V_n$ ) and since  $e_u = 1$  (respectively  $e_v = -\Delta$ ), we get that

$$\sum_{n=1}^{+\infty} \frac{Q^n}{U_n U_{n+k}} = \frac{1}{U_k} \left[ \sum_{r=1}^k \frac{U_{r+1}}{U_r} - k\alpha \right]$$
 (4.2)

and

$$\sum_{n=1}^{+\infty} \frac{Q^n}{V_n V_{n+k}} = \frac{1}{\Delta U_k} \left[ k\alpha - \sum_{r=1}^k \frac{V_{r+1}}{V_r} \right]$$
 (4.3)

when P > 0.

If P < 0, replace  $\alpha$  by  $\beta$  in the above formulas.

We turn now to the proof of Theorem 2'. Let us consider a second-order recurring sequence  $\{W_n'\}$  (see [4] and [10]) satisfying

$$W'_{n} = P'W'_{n-1} - Q'W'_{n-2}, \ n \ge 2, \tag{4.4}$$

where  $P' = \alpha^s + \beta^s = V_s$  and  $Q' = \alpha^s \beta^s = Q^s$ . Notice that P' > 0 if and only if P > 0 or if P < 0 and s is even. The Fibonacci sequence associated with the recurrence (4.4) is defined by

$$U_n' = \frac{\alpha^{sn} - \beta^{sn}}{\alpha^s - \beta^s} = \frac{U_{sn}}{U_s}.$$
 (4.5)

On the other hand, we have

$$W_{\pi(n)} = W_{m+sn} = \frac{A'\alpha^{sn} - B'\beta^{sn}}{\alpha - \beta},$$

where  $A' = A\alpha^m$  and  $B' = B\beta^m$ . If  $\{W'_n\}$  is the solution of (4.4) defined by  $W'_n = \frac{A'\alpha^m - B'\beta^m}{\alpha^s - \beta^s}$ , we have

$$W_n' = \frac{W_{\pi(n)}}{U_n}. (4.6)$$

It follows by Theorem 2 applied to  $\{W'_n\}$  that, if P' > 0,

$$\sum_{n=1}^{+\infty} \frac{Q^{sn}}{W'_n W'_{n+k}} = \frac{1}{e_w, U'_k} \left[ \sum_{r=1}^k \frac{w'_{r+1}}{w'_r} - k\alpha^s \right]. \tag{4.7}$$

Using (4.5) and (4.6) and noticing that  $e_{w'} = A'B' = AB\alpha^m \beta^m = e_w Q^m$ , we easily deduce (2.2) from (4.7). If P' < 0, replace  $\alpha^s$  by  $\beta^s$  in the right member of (4.7).

72 [FEB.

#### 5. PROOF OF THEOREM 3 AND COROLLARIES 1 AND 2

Supposing first that P > 0, we get by (3.1) that

$$\frac{1}{\alpha^n W_n} - \frac{Q^k}{\alpha^{n+k} W_{n+k}} = \frac{AU_k}{W_n W_{n+k}}.$$
 (5.1)

Letting n = 1, 2, ..., N, where  $N \ge k$ , and summing, we obtain

$$AU_{k}\sum_{n=1}^{N}\frac{1}{W_{n}W_{n+k}} = \sum_{r=1}^{k}\frac{1}{\alpha^{r}W_{r}} + (1 - Q^{k})\sum_{r=k+1}^{N}\frac{1}{\alpha^{r}W_{r}} - Q^{k}\sum_{r=N+1}^{N+k}\frac{1}{\alpha^{r}W_{r}}$$
$$= (1 - Q^{k})\sum_{r=1}^{N}\frac{1}{\alpha^{r}W_{r}} + Q^{k}\sum_{r=1}^{k}\frac{1}{\alpha^{r}W_{r}} - Q^{k}\sum_{r=N+1}^{N+k}\frac{1}{\alpha^{r}W_{r}}.$$

The first sum in the right member converges as  $N \to +\infty$  since  $\alpha^r W_r \simeq \frac{A}{\alpha - \beta} \alpha^{2r}$ , where  $\alpha > 1$ . We also see that the last sum vanishes when  $N \to +\infty$ . This concludes the proof of Theorem 3 when P > 0. If P < 0, the proof is similar.

Notice that the first term in the right member of (2.3) vanishes if and only if Q=1 (in which case  $S_k=T_k$ ) or Q=-1 and k is even. The series  $\sum_{r=1}^{+\infty}\frac{1}{\alpha^rW_r}$  seems difficult to evaluate. If Q=-1 and if  $W_n=U_n$  or  $W_n=V_n$ , this series can be expressed with the help of the Lambert series [1, Lemma 3]. If Q=1, it does not appear in (2.3). This fact explains why Melham and Shannon [9, p. 199] obtain formulas that do not involve Lambert series.

If Q = -1 and k is even, then (2.3) becomes

$$AU_{2k}T_{2k} = \sum_{r=1}^{2k} \frac{1}{\alpha^r W_r} = A \sum_{r=1}^{k} \frac{1}{W_{2r}W_{2r-1}}$$

by (3.5), when P > 0. This concludes the proof of (2.4). If P < 0, the proof is similar. On the other hand, put Q = -1 and replace k by 2k + 1 in (2.2) to obtain

$$AU_{2k+1}T_{2k+1} = 2\sum_{k=1}^{+\infty} \frac{1}{\alpha'W} - \sum_{k=1}^{2k+1} \frac{1}{\alpha'W}$$

and, using (3.6), we deduce from this

$$AU_{2k+1}T_{2k+1} - AU_1T_1 = -\sum_{r=1}^{2k+1} \frac{1}{\alpha^r W_r} = -A\sum_{r=1}^k \frac{1}{W_{2r}W_{2r+1}}$$

This concludes the proof of (2.5) when P > 0. The case in which P < 0 is similar.

Using (4.5) and (4.6) and applying Corollary 1 to the sequence  $\{W'_n\}$ , one can easily obtain the proof of Corollary 2 when noticing that  $Q^s = -1$ , since s is odd.

#### REFERENCES

- R. André-Jeannin. "Lambert Series and the Summation of Reciprocals in Certain Fibonacci-Lucas-Type Sequences." The Fibonacci Quarterly 28.3 (1990):223-26.
- G. E. Bergum & V. E. Hoggatt, Jr. "Infinite Series with Fibonacci and Lucas Polynomials." The Fibonacci Quarterly 17.2 (1979):147-51.

1997]

- 3. Br. A. Brousseau. "Summation of Infinite Fibonacci Series." The Fibonacci Quarterly 7.2 (1969):143-68.
- 4. L. Carlitz. "The Characteristic Polynomial of a Certain Matrix of Binomial Coefficients." The Fibonacci Quarterly 3.2 (1965):81-89.
- 5. I. J. Good. "A Symmetry Property of Alternating Sums of Products of Reciprocals." The Fibonacci Quarterly 32.3 (1994):284-87.
- 6. A. F. Horadam. "Basic Properties of a Certain Generalized Sequence of Numbers." The Fibonacci Quarterly 3.3 (1965):161-76.
- 7. A. F. Horadam & J. M. Mahon. "Infinite Series Summation Involving Reciprocals of Pell Numbers." In Fibonacci Numbers and Their Applications 1:163-80. Ed. G. E. Bergum, A. F. Horadam, and A. N. Philippou. Dordrecht: Kluwer, 1986.
- 8. E. Lucas. "Théorie des fonctions numériques simplement périodiques." Amer. J. Math. 1 (1878):184-200, 289-321.
- 9. R. S. Melham & A. G. Shannon. "On Reciprocal Sums of Chebyshev Related Sequences." The Fibonacci Quarterly 33.3 (1995):194-201.
- 10. A. G. Shannon & R. S. Melham. "Carlitz Generalizations of Lucas and Lehmer Sequences."
- The Fibonacci Quarterly 31.2 (1993):105-11.

  11. B. S. Popov. "Summation of Reciprocals Series of Numerical Functions of Second Order." The Fibonacci Quarterly 24.1 (1986):17-21.

AMS Classification Numbers: 11B39, 11B37, 40A99



# APPLICATIONS OF FIBONACCI NUMBERS

### VOLUME 6 New Publication

Proceedings of The Sixth International Research Conference on Fibonacci Numbers and Their Applications, Washington State University, Pullman, Washington, USA, July 18-22, 1994

Edited by G. E. Bergum, A. N. Philippou, and A. F. Horadam

This volume contains a selection of papers presented at the Sixth International Research Conference on Fibonacci Numbers and Their Applications. The topics covered include number patterns, linear recur-riences, and the application of the Fibonacci Numbers to probability, statistics, differential equations, cryptography, computer science, and elementary number theory. Many of the papers included contain suggestions for other avenues of

For those interested in applications of number theory, statistics and probability, and numerical analysis in science and engineering:

#### 1996, 560 pp. ISBN 0-7923-3956-8 Hardbound Dfl. 345.00 / £155.00 / US\$240.00

AMS members are eligible for a 25% discount on this volume providing they order directly from the publisher. However, the bill must be prepaid by credit card, registered money order, or check. A letter must also be enclosed saying: "I am a member of the American Mathematical Society and am ordering the book for personal use."

## KLUWER ACADEMIC PUBLISHERS

P.O. Box 322, 3300 AH Dordrecht The Netherlands

P.O. Box 358, Accord Station Hingham, MA 02018-0358, U.S.A.

Volumes 1-5 can also be purchased by writing to the same addresses.

74

FEB.